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3. ɈɉɊȿȾȿɅȿɇɂȿ�ɍȽɅɈȼɕɏ�ɋɄɈɊɈɋɌȿɃ�ɌȿɅ�ɂ�ɅɂɇȿɃɇɕɏ�

ɋɄɈɊɈɋɌȿɃ�ɌɈɑȿɄ�Ɂȼȿɇɖȿȼ�ɆȿɏȺɇɂɁɆȺ��ɋɈȼȿɊɒȺɘɓɂɏ�

ȼɊȺɓȺɌȿɅɖɇɈȿ�ɂ�ɉɅɈɋɄɈȿ�Ⱦȼɂɀȿɇɂə  
 

 

1. ɈȺ = 35 ɫɦ�� Ⱥȼ = 65 ɫɦ�� r = 15 ɫɦ��

ȦɈȺ = 2 ɫ±1. ɇɚɣɬɢ� ɞɥɹ� ɡɚɞɚɧɧɨɝɨ� ɩɨ�

ɥɨɠɟɧɢɹ�ɦɟɯɚɧɢɡɦɚ� ɫɤɨɪɨɫɬɢ� ɬɨɱɟɤ�ȼ, 

ɋ ɢ�ɭɝɥɨɜɵɟ�ɫɤɨɪɨɫɬɢ�ɜɫɟɯ�ɟɝɨ�ɡɜɟɧɶɟɜ. 

 

2. ɈȺ = 40 ɫɦ�� Ⱥȼ = 40 ɫɦ�� ȺD = 40 ɫɦ, 

ȼC = 60 ɫɦ�� ȦɈȺ = 1,5 ɫ±1. ɇɚɣɬɢ� ɞɥɹ�

ɡɚɞɚɧɧɨɝɨ� ɩɨɥɨɠɟɧɢɹ� ɦɟɯɚɧɢɡɦɚ� ɫɤɨ�

ɪɨɫɬɢ� ɬɨɱɟɤ� ȼ, ɋ, D ɢ� ɭɝɥɨɜɭɸ� ɫɤɨ�

ɪɨɫɬɶ ɡɜɟɧɚ�BAD. 

 

3. ɈȺ = 22 ɫɦ�� ȼC = 24 ɫɦ�� r = 11 ɫɦ��

ȦɈȺ = 3 ɫ±1, Ɉ1ɋ = 30 ɫɦ. ɇɚɣɬɢ�ɞɥɹ�ɡɚ�

ɞɚɧɧɨɝɨ ɩɨɥɨɠɟɧɢɹ� ɦɟɯɚɧɢɡɦɚ� ɫɤɨɪɨ�

ɫɬɢ�ɬɨɱɟɤ�ȼ, ɋ ɢ�ɭɝɥɨɜɵɟ�ɫɤɨɪɨɫɬɢ�ɜɫɟɯ�

ɟɝɨ�ɡɜɟɧɶɟɜ. 

 

4. ɈȺ = 20 ɫɦ�� Ⱥȼ = 50 ɫɦ� ȼC = 24 ɫɦ, 

ȦɈȺ = 1 ɫ±1. ɇɚɣɬɢ� ɞɥɹ� ɡɚɞɚɧɧɨɝɨ� ɩɨ�

ɥɨɠɟɧɢɹ�ɦɟɯɚɧɢɡɦɚ� ɫɤɨɪɨɫɬɢ� ɬɨɱɟɤ�ȼ, 

ɋ ɢ�ɭɝɥɨɜɵɟ�ɫɤɨɪɨɫɬɢ�ɜɫɟɯ�ɟɝɨ�ɡɜɟɧɶɟɜ. 

 

5.  ɈȺ = 35 ɫɦ�� r = 15 ɫɦ�� ȦɈȺ = 4 ɫ±1, 

Ȧ1 = 1,5 ɫ±1. ɇɚɣɬɢ� ɞɥɹ� ɡɚɞɚɧɧɨɝɨ� ɩɨ�

ɥɨɠɟɧɢɹ� ɦɟɯɚɧɢɡɦɚ� ɫɤɨɪɨɫɬɢ� ɬɨ�

ɱɟɤ ȼ, ɋ ɢ� ɭɝɥɨɜɭɸ ɫɤɨɪɨɫɬɶ ɤɨɥɟɫɚ�

ɪɚɞɢɭɫɚ r. 
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ȦɈȺ 
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���Ɉɩɪɟɞɟɥɟɧɢɟ�ɭɝɥɨɜɵɯ�ɫɤɨɪɨɫɬɟɣ�ɬɟɥ�ɢ�ɥɢɧɟɣɧɵɯ�ɫɤɨɪɨɫɬɟɣ�ɬɨɱɟɤ�ɡɜɟɧɶ�

ɟɜ�ɦɟɯɚɧɢɡɦɚ��ɫɨɜɟɪɲɚɸɳɢɯ�ɜɪɚɳɚɬɟɥɶɧɨɟ�ɢ�ɩɥɨɫɤɨɟ�ɞɜɢɠɟɧɢɹ 

1. 10,6 ;Ⱥȼ c�Z   15,23 ;c�Z  ȼV = 78,5 ɫɦ�ɫ; ɋV = 111 ɫɦ�ɫ.  

2. 11,5 ;Ⱥȼ' c�Z   ȼV = 103,92 ɫɦ�ɫ; ɋV = 51,96 ɫɦ�ɫ; DV = 60 ɫɦ�ɫ.  

3. 16 ;c�Z  14,34 ;ȼɋ c�Z   
1

12,54 ;Ɉɋ c�Z   ȼV = 93,32 ɫɦ�ɫ; ɋV = 76,15 ɫɦ�ɫ.  

4. 10,96 ;Ⱥȼ c�Z   10,87 ;ȼɋ c�Z   ɋV = 36 ɫɦ�ɫ; ȼV = 41,57 ɫɦ�ɫ.  

5. 111,33 ;c�Z  ȼV = 220 ɫɦ�ɫ; ɋV = 309,9 ɫɦ�ɫ.  

6. 10,56 ;Ⱥȼ c�Z   ȼV = 24 ɫɦ�ɫ; ɋV = 16,97 ɫɦ�ɫ.  

7. 12 ;Ⱥȼ c�Z   
1

12,08 ;Ɉ ȼ c�Z   ȼV = 103,92 ɫɦ�ɫ; ɋV = 60 ɫɦ�ɫ.  

8. 11,5 ;c�Z  ȼV = 33,25 ɫɦ�ɫ; ɋV = 25,45 ɫɦ�ɫ.  

9. ÀDZ  = 0; 
1

10,54 ;Ɉ ' c�Z   ȼɋZ = �����ɫ-1; DV = 14 ɫɦ�ɫ; ȼV = 7 ɫɦ�ɫ; ɋV = 5,13 ɫɦ�ɫ. 

10. 15,33 ;c�Z  11,4 ;Ⱥȼ c�Z   ȺV = 80 ɫɦ�ɫ; ȼV = 50,6 ɫɦ�ɫ; ɋV = 56,94 ɫɦ�ɫ.  

11. 15,62 ;c�Z  13,26 ;ȼɋ c�Z   ȼV = 95,44 ɫɦ�ɫ; ɋV =155,4 ɫɦ�ɫ.  

12. Ⱥȼ'Z = 2 ɫ-1;  ȼɋZ = 1,86 ɫ-1;  ȼV = 66,52 ɫɦ�ɫ; DV = 124,88 ɫɦ�ɫ; ɋV = 12,97 ɫɦ�ɫ. 

13. 16,67 ;c�Z  13,55 ;Ⱥȼ c�Z   ÀV = 177,69 ɫɦ�ɫ; ȼV = 153,35 ɫɦ�ɫ.  

14. 13,27 ;ȼ c�Z   11,43 ;Ⱥ c�Z   ɋV = 69,81 ɫɦ�ɫ.  

15. 0;ȺȼZ   12,67 ;c�Z ȼV = 40 ɫɦ�ɫ; ɋV = 56,56 ɫɦ�ɫ.  

16. 10,84 ;c�Z  ȼV = 19,71 ɫɦ�ɫ; ɋV = 34,67 ɫɦ�ɫ.  

17. 11,2 ;Ⱥ c�Z   12,4 ;Ɉ c�Z   ȼV =19,95 ɫɦ�ɫ; ɋV =19,2 ɫɦ�ɫ.  

18. 0;Ⱥȼ'Z   12,44 ;Ⱥȼ c�Z   ȼV = 52,8 ɫɦ�ɫ; ɋV = 30,46 ɫɦ�ɫ; DV = 52,8 ɫɦ�ɫ.  

19. 10,69 ;Ⱥȼ c�Z   11,39 ;c�Z  ȼV = 19,46 ɫɦ�ɫ; ɋV = 33,7 ɫɦ�ɫ.  

20. 10,95 ;Ⱥȼɋ c�Z   
1

12,88 ;Ɉ ȼ c�Z   ȼV = 106,4 ɫɦ�ɫ; ɋV = 110,7 ɫɦ�ɫ.  

21. 11,73 ;DȺȼ c�Z   12,83 ;ȼɋ c�Z   BV = DV = 83,14 ɫɦ�ɫ; ɋV = 26,87 ɫɦ�ɫ.  

22. 15 ;c�Z  11,29 ;ȼɋ cZ   ȼV = 70,7 ɫɦ�ɫ; ɋV = 62,92 ɫɦ�ɫ.  

ɈɌȼȿɌɕ


